## **C**GEERPRES.

### **Advantex® Product Sheet**

### Advantex® Single Use Microfiber Wipes

Achieve ideal surface disinfection with Advantex® Wipe constructed of non-linting hydroentangled, synthetic microfibers. Compatible with all healthcare disinfectant solutions. The wipes are durable with tremendous absorbency and release. Will not rip or tear. Perfect for use in healthcare, educational, and restaurant/hospitality settings.

- Item # 48424 12" x 12" ¼ Fold flat wipe, 70GSM. Designed for use with a charging bucket (item # 4843D) or spray on chemistry. ¼ fold design allows for use on up to 8 surfaces with a single wipe. Ideal for patient rooms in most healthcare and assisted living facilities.
- **Item # 48421012** 10" x 12" roll wipe, 48GSM. Designed to be pre-saturated with customers chemical of choice in a canister dispenser (item # 4846D). Ideal for high touch point larger surfaces.
- Item # 48426 6" x 8" roll wipe, 48GSM. Designed to be pre-saturated with customers chemical of choice in a canister dispenser (item # 4846D). Ideal for locations with frequent usage, such as healthcare, business offices, classrooms and restaurant settings.

Geerpres FG SKU	Description	Distributor Pricing		UPC	Pack Qty	Case Pack Qty	Ttl Units / Case	Partner Product
48421012	Wipe; Non-Woven Microfiber Roll REFILL 10" x 12" <mark>(48 GSM)</mark>	\$	96.00	027798007486	50	24	1,200	4846D
48424	Wipe; Non-Woven Microfiber 1/4 fold 12"x12" (70 GSM)	\$ 2	128.00	027798007639	50	24	1,200	4843D
48426	Wipe; Non-Woven Microfiber Roll Refill, 6"x8" (48 GSM)	\$	91.00	027798008803	100	24	2,400	4846D
4846D	Wipe Dispenser (only) for Roll Wiper - 6/case	\$	21.00	027798008827	1	6	6	48421012; 48426
4846DEA	Roll Wipe Dispenser only - bulk pack	\$	2.50	027798008834	1	1	1	48421012; 48426
4846DL	Lid for Roll Wipe Dispenser - bulk pack	\$	1.00	027798008841	1	1	1	48421012; 48426
4843D	Wipe Dispenser; (only) for Wiper #48424, rectangular	\$	26.00	027798008629	1	6	6	48424
4843DEA	1/4 Fold Wipe Dispenser only - bulk pack	\$	2.93	027798008780	1	1	1	48424
4843DL	Lid fo 1/4 Fold Wipe Dispenser - bulk pack	\$	1.40	027798008797	1	1	1	48424



10/1/2020

# **CO GEERPRES**

Advantex® Single Use Microfiber Mops

Designed for daily floor cleaning in healthcare, cleanroom/laboratories, educational, and hospitality applications. The Advantex® Microfiber Mop has been tested and proven best-in-class for non-quat binding, disinfection application, solution delivery and reduction in chemical waste.

- Proprietary synthetic construction compatible with all healthcare disinfectants
- Non-linting, USP 797 compliant
- 18" mop covers 240-250 sq. ft. per mop
- Now available in 3 sizes 18", 36", and 48"

Geerpres I SKU	G Description	Distrib	utor Pricing	UPC	Pack Qty	Case Pack Qty	Ttl Units / Case	Partner Product
4832	Mop; SU-MF Advantex 18"	\$	54.00	027798006168	10	20	200	200020; 480001; 4713
4833	Mop; Single-use Advantex 36"	\$	48.00	027798008643	10	10	100	480236
4834	Mop; Single-use Advantex 48"	\$	67.00	027798008650	10	10	100	480248

### Advantex® Single Use Floor Dusters

The Advantex® Single Use Floor Duster has microfiber face and looped fringe to help hold dust and debris. It attaches to most 5" wide floor duster frames (not available from Geerpres.) Available in 4 sizes – 24", 36", 48", and 60".

Geerpres FG SKU	Description	Distributor Pricing		UPC	Pack Qty	Case Pack Qty	Ttl Units / Case
48330	Duster 24" Floor; Advantex w Fringe	\$	144.00	027798008681	10	20	200
48331	Duster 36" Floor; Advantex w Fringe	\$	93.00	027798008698	10	10	100
48332	Duster 48" Floor; Advantex w Fringe	\$	138.00	027798008704	10	10	100
48333	Duster 60" Floor; Advantex w Fringe	\$	120.00	027798008711	8	10	80





### Advantex® Additional Products

- Item # 4828 Limited Use Floor Finish Mop 18" x 5.5"
  - Microfiber for use in most floor care and floor finish applications.
  - For use with Geerpres Advantex® flat mop frame (#4713)
- Item # 4830 High Absorbency Flat Mop 18" x 5.5"
  - Designed to quickly absorb spills using a flat mop handle without the need for a bucket and wringer.
  - Absorbs up to 32 oz in 2-4 minutes with no drips or leakage from the floor to the trash.
  - Perfect for hospitality, restaurants and C-Stores.
  - For use with Geerpres Advantex® flat mop frame (#4713)
- Item # 4852 Disposable Strap Mop
  - Traditional style mop with 1.5" band and composed of microfiber straps. Designed to quickly absorb spills.
  - Compatible with all Geerpres wringers, allowing for cleanup of larger spills.
  - $\circ~$  For use with Geerpres Dynamate  $\ensuremath{\mathbb{R}}$  and other traditional mop holders.
  - Pricing to be available by 10/30/2020.
- Item # 200020 Advantex® G8 Fluid Applicator Handle
  - Fluid applicator handle with continuous flow while trigger is depressed.
  - Includes a 32 oz refillable stackable bottle.
  - Includes 16" Advantex® Mop Frame (item # 4713) with quick connector and micro hook/loop fastener to avoid lint accumulation.
- Item # 200030 Advantex® G8 Fluid Applicator Handle with Cling-on® Frame
  - Includes Cling-On® Frame (item # 4717) with molded spikes instead of hook/loop fastening.

Geerpres FG SKU	Description	Distributor Prici	ng UPC	Pack Qty	Case Pack Qty	Ttl Units / Case	Partner Product
4828	Mop, Disposable, White XT	\$ 68.	00 027798002986	50	4	200	200020; 480001, 4713
4830	Mop; High Absorbancy Flat Mop, (SAP) / 22 oz. Capacity	\$ 120.	00 027798003006	25	8	200	200020; 480001, 4713
4852	Mop; Advantex <sup>®</sup> Disposable Strap Mop (9 oz), 1.5" Band	TBD	027798008810	1	12	12	Traditional mop frame
200020	Handle, Applicator; G8, 32 oz refill capacity, Advantex Micro-Velcro frame (5"x16")	\$ 60.	00 027798007493	1	1	1	4832; 4828; 4830
200030	Handle, Applicator; G8, 32 oz refill capacity, Cling-On Frame (5"x16")	\$ 77.	00 027798007684	1	1	1	4832; 4828





### Advantex® Modular Handle System

With the Geerpres quick connector system, utilize one lightweight aluminum extendable (42" – 70") handle for multiple cleaning solutions – floor, wall and dusting.

- Item # 4800 Aluminum handle only. Set of 12.
- **Item # 480001** Aluminum handle and Advantex® Flat Mop Frame (Item 4713). Sold as each. Use with mop 4832, 4828, or 4830.
- **Item # 100113** Aluminum handle and high duster frame (item 4814). Sold as each. Use with cover 48151.
- Item # 48151 Advantex® Single Use High Duster Sleeve Made of the same microfiber as the Advantex® Single Use Flat Mop. Microfiber grabs dust and debris for best surface cleaning.
- **Item # 4814** Advantex® High Duster Frame Flexible tool for dusting hard to reach and odd shaped surfaces. Use with cover 48151.
- **Item # 4713** Advantex® Flat Mop Frame micro hook/loop fasteners with quick connect to pair with Geerpres G8 or modular handle system.
- Item # 480236 36" Flat Mop Frame, twist lock, traditional Velco®. For use with 4833 Advantex® Single Use mop in large areas such as hallways, common areas, cafeterias, etc. (Pricing to be available by 9/1/2020)
- Item # 480248 48" Flat Mop Frame, twist lock, traditional Velcro®. For use with 4834 Advantex® Single Use mop in large areas such as hallways, common areas, cafeterias, etc. (Pricing to be available by 9/1/2020)

Geerpres FG SKU	Description	Distributor Pricing	UPC	Pack Qty	Case Pack Qty	Ttl Units / Case	Partner Product	
4800	Handle; Aluminum, Telescoping 42"- 70" (QC frame adaptable)	\$ 163.00	027798002825	1	12	12	4713; 4814; 480236; 480248	
480001	Handle; Aluminum Telescoping 42"- 70" w QC Advantex Frame	\$ 21.00	027798008568	1	1	1	4713; 4832; 4828; 4830	
100113	High Duster Kit with Telescoping Handle and Flexible Wand	\$ 43.00	027798007721	1	1	1	48151	
48151	Duster; HighCover; Advantex Single- Use Microfiber	\$ 65.00	027798007677	25	10	250	100113; 4814	
4814	Wand; High Duster, Flexible w/ QC	\$ 35.00	027798007578	1	1	1	48151	
4713	Advantex 16" Flat Mop Frame, micro Hook/Loop, w/ Quick Connect	\$ 18.00	027798007448	1	1	1	4832; 4828; 4830; 200020	
480236	Frame; Flat Mop, 36"L, Aluminum twist lock, Velcro®	TBD	027798008735	1	12	12	4833	
480248	Frame; Flat Mop, 48"L, Aluminum twist lock, Velcro®	TBD	027798008742	1	12	12	4834	